Thai Christian Foundation

Tax Deductible Giving Opportunities

for **You**Your **Youth Groups** and Your **Church**

Year-End 2016 and New-Year 2017



Look inside for two

Allan and Joan Eubank

Missionaries in Thailand for over 55 years are so grateful for your help.

The Eubanks were instrumental in creating the **Thai Christian Foundation** in Dallas, Texas as a way for people to send tax-deductible gifts to aid children and families from Thailand and Burma/Myanmar and to bring the word of God into their lives. Over the years, the Eubanks and their four children located in Chiang Mai, Thailand began and directed such organizations as the Christian Communication Institute (CCI) in Payap University where the Thai dance-drama troupe called "Likay," performs bible related stories across Thailand, the USA, and many other countries. The Eubanks also minister to many ethnic groups such as Northern Thai, Chinese, Pa-Oh, Karen, Shan, Mong, Akha, and Wa (in Burma). They have also trained an uncountable number of ministers, musicians, and religious leaders from multiple denominations. More recently, **Pan Rak Foundation** run by Thai nationals, was created to be the sister organization to TCF. The Division of Overseas Ministries of the Christian Church (Disciples of Christ) supported and encouraged the Eubanks until their recent retirement. Although the Eubanks are officially "retired," they continue to live and work in Thailand and surrounding areas.

Slan & Joan

We would love to hear from you!

Allan and Joan Eubank Box 14 Mae Cho Chiang Mai 50290 Thailand

Phone: 66-53-869-507

Email: info@thaichristianfoundation.org

Tax deductible gifts may be sent to:

www.thaichristianfoundation.org or

Thai Christian Foundation DEPT. D8150 P. O. Box 650002 Dallas TX 75265-8150

2017 Cleft Lip and Palate Project

For Thai, Wa, and other hill tribe children who need life-changing surgery



1) E-Tuay, age 13



1) After surgery



2) Ai Nat, age 11



2) After surgery

Imagine if your child had a cleft palate but you had no money for surgery?

- The project originally began for Thai hill tribe children by the YMCA. Today, there are very few lip and palate deformities in Thailand, perhaps due to improved diet.
- The problem still exists for hundreds of Wa and hill tribe children in Burma/Myanmar—see photos.
- Staff from Pan Rak Foundation escort the children and family members across the border to Chiang Rai.
- Overbrook Hospital in Chiang Rai, the YMCA, and volunteer doctors and surgeons from Canada's Operation Smile, conduct the surgery and pay for half the cost.
- TCF provides for the \$600 of remaining surgical expenses per child as well as recovery care including food, lodging, a caregiver, and a translator for an additional \$150 per child.
- TCF also introduces the children and families to the love of Jesus Christ through witness and example.



Ye-E, age 6



3) After surgery



4) Ai Ka, age 5



4) After surgery

Specific Needs:

So far: 64 operations completed.

Needed: 154 Wa children currently waiting—we will take as many children as funds

allow—up to 30 children per quarter.

How many can you help?

Costs Per Child:

- A. **1 Child:** Recovery care only = \$150; Surgery only = \$600.
- B. **5 Children:** Recovery care only = \$750; Surgery only = \$3,000.
- C. **10 Children:** Recovery care only = \$1,500; Surgery only = \$6,000.
- D. **30 Children:** Surgery + recovery care = \$22,500.
- E. **Other**: Any combination and amount you wish to give.

2017 Education Assistance Project

For students in Thailand and Burma/Myanmar who need help and hope to complete their education



Anan:

"I am in grade 12. My hobby is playing guitar and singing. My favorite subject is English."



Naw:

"I am from Laytongku (Talaku) village. I am a Fourth year student at Chrestos Bible School. After I graduate, I want to go back to serve my people in the area I'm from."

Students completing their education improve themselves and their families:

- Without assistance, many needy students in Thailand and Burma/Myanmar have no hope of obtaining an education.
- Currently, the Thai Christian Foundation (TCF) is providing funding for:
 - -8 high school students,
 - —5 university students,
 - -2 bible school students,
 - —19 Lawa (Wa) elementary and high school students with partial funding for electricity at their hostel and school fees.
- Pan Rak Foundation—a sister organization to TCF located in Thailand—has an education committee that accepts applications, interviews students, relays education needs to TCF, and keeps close contact with students once accepted.
- TCF hopes to <u>double</u> the number of high school, university, and bible school students receiving assistance.



Education Assistance:

- F. 1 High School student for 1 term (1/2 year) = \$143; 2 students = \$286.
- G. 1 High School student for 2 terms (1 year) = \$286; 2 students = \$572.
- H. 1 University student for 1 term (1/2 year) = \$286; 2 students = \$572.
- I. 1 University student for 2 terms (1 year) = \$572; 2 students = \$1,144.
- J. **1** Bible School student for 1 year = \$150; **2** students = \$300.
- K. **Other**: . (List number of students & type of assistance).



Wichuda—grade 12

"I am a new believer with my family who changed from Animist (spirit worship) to Christ. I plan to study Public Health Care at the University."



Yutthaphan from Tak province:

"I am a first-year university student majoring in Music. My ambition is to become a musician."



Umphang Witthayakhom High School



Lawa (Wa) Hostel Students



Lawa (Wa) Hostel

Thai Christian Foundation

Tax Deductible Giving Opportunities

Lip and Palate:

Recovery care only = \$150; Surgery only = \$600. B. **5 Children:** Recovery care only = \$750; Surgery only = \$3,000. C. **10 Children:** Recovery care only = \$1,500; Surgery only = \$6,000. D. **30 Children:** Surgery + recovery care = \$22,500. E. **Other**: Any combination and amount you wish to give. . .

Education Assistance:

- F. 1 High School student for 1 term (1/2 year) = \$143; 2 students = \$286. G. 1 High School student for 2 terms (1 year) = \$286; 2 students = \$572. H. 1 University student for 1 term (1/2 year) = \$286; 2 students = \$572.

 I. 1 University student for 2 terms (1 year) = \$572; 2 students = \$1,144.
- J. 1 Bible School student for 1 year = \$150; 2 students = \$300. K. Other: ______ (List number of students & type of assistance).

YES, I would like to change a life:		
Α.	\$150	\$600
B.	\$750	\$3,000
C.	\$1,500	\$6,000
D.	\$22,500	
E.	Other	\$
F.	☐ \$143	\$286
G.	□ \$286	\$572
Н.	□ \$286	□ \$572
l.	\$572	\$1,144
J.	\$150	\$300
K.	Other	\$

Enclosed is my total gift of \$ My check is enclosed, made payable to TCF (Thai Christian Foundation). ☐ Please charge/debit my gift to: ☐ MasterCard ☐ Discover ☐ VISA ☐ Other Card # _____ Exp. Date_____ Name on card Mailing address _____ Email Signature (Required)

Please send the bottom half of this page to:

Thai Christian Foundation DEPT. D8150 P. O. Box 650002 Dallas TX 75265-8150

Or go online at:

www.thaichristianfoundation.org

TCF is a registered organization with the EIN 75-1730295. Your generous gift is tax deductible and 93% of every gift goes directly to helping children and families in Thailand, Burma/Myanmar, and surrounding areas.